MATH 106 Quiz 6

April, 2009


The quiz is worth 100 points.    Show ALL work.  
1. (8 pts) Bob arranges for $32,000 of home improvement work to be done on his house, financed with payments of $628 per month for 5 years. How much total interest will Bob pay? Show work.

2. (18 pts) To purchase a house, a homebuyer takes out a mortgage of $180,000 at the annual interest rate 6%, compounded monthly for 30 years.
(a) Calculate the monthly payment. Show how to carry out the calculation. 

(b) Calculate the total interest paid if the loan is held for the entire term. Show work.
3. (28) Albert makes a one-time deposit of $5000 into a savings account at 6% interest compounded monthly. 

Barbara deposits $100 into a savings account at the end of every month for 5 years at 6% interest compounded monthly.

(a) How much will Albert have in the account at the end of five years? Show work.
(b) How much will Barbara have in the account at the end of five years? Show work.
(c) Who will have more money in his/her account at the end of five years?

(d) How much has each person earned in total interest, at the end of five years? Who earned more in total interest? Show work.

4. (12 pts) Let c denote “Bob drank coffee,” let  n denote “Bob read the newspaper,” and  

let h denote “Bob finished his homework.”

(a) Write the English statement corresponding to 
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. Be sure to include a comma, as appropriate.
(b) Write the symbolic statement form corresponding to the English statement 
          “Bob read the newspaper but did not drink coffee.”

5 (10 pts) Construct a truth table for the statement form  
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. Show your steps. You may use any part of the grid below to help organize your table, or create your own table.
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6. (24 pts) Construct a truth table for the statement form 
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. Show your steps. You may use any part of the grid below to help organize your table, or create your own table.

	(1)
	(2)
	(3)
	(4)
	(5)
	(6)
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EXTRA CREDIT #7-10 (based on section 12.4):

NO WORK REQUIRED
7. (3 pts) Given a statement of the form 
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, which of the following statements is logically equivalent?









7. _______


A. 
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B. 
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C. 
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D.
None of the above

8. (3 pts) Given a statement of the form 
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, which of the following statements is logically equivalent?









8. _______


A. 
The contrapositive of the statement


B. 
The converse of the statement


C. 
The inverse of the statement


D.
The negation of the statement

9. (3 pts): Consider the statement  “The store is open or the lights are on.”

9. ______

Which of the following is the negation of the statement?

A.
The store is closed or the lights are off.


B.
The store is closed and the lights are off.


C.
The store is closed or the lights are on.


D.
The store is closed and the lights are on.

10. (3 pts) Consider the statement “If Fred arrives late for work, then Fred is fired.”    10. ______ 

Which of the following statements is logically equivalent?


A. 
If Fred does not arrive late for work, then Fred is not fired.



B. 
If Fred is fired, then Fred arrives late for work.



C. 
If Fred is not fired, then Fred does not arrive late for work.



D.
Fred arrives late for work and Fred is fired.
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